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Comsider the explosive reaction of diborane in the air:
Ballarey + 500 = Balyg | 3 Hallgy AH 2035 kl

a.] Calculate the heat released when |0 gram of diborane is burned 2
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b.) What amount of heat is generated when 300, liters of O is reactad at STP?
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) How much heat is released when a mixture of 300 g ot BzHy and 30.0 g of Oy is reacred”
2, 0 'ifl—h_ Fo. O :E('
2F, L51 3'3_.’!" : S ; o
93 g “—263sL)y |- 2
F. D% Mk O'_Jjé;—-.-'f O:_JE_""E_“L - : 6_3'{1 .J(T

N (&%) ’ { Brdo,

Compare the two fuels Ha and CHy:
Ignition of Ha gas: 21 1 Oy 2> 2010 AH=—572k]
Combustion of CHy {methancy: CHy + 202 = COg + 2Hz0 AH=—1891 k]

a.) Which source of energy gives more enargy per gran? (Show calculations for both amouis in k55g)

H, = BRSNS T

- S72 ﬂ)‘ fd ¢, __r!"f'.%./éj ~8H M  AKCHy [ —SG Z LD

Z aad H, 2a ——5 | IR, ”“_3,

<
(Hs ) iy
b} Find the amount of energy that is released when 25 ers of methane reacts with 60.0 liters of oxyren
al STP. f,,-—-(:.’-} > e
L + -

25,0l QHL{ C0.0L O,
L. —_—
Deor cil, _tmwtct, =394 l~99 24X |
ot 2oL el CH, -~ ==

Given: FeaOsg + 3CO0 2 2Fey + 3 COgpp A= —23 k)
Whal amount ol heal enerpy is released when 3.3 1 grams ot irond [} oxide reacts with 1,18 grams of |
carbon monaxide?
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